| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

e T e e

efficiency v

o
[
[

025

02t B
G s s T s

) 0 i e et o s
008y

10

Ratio

510 15 20
TP dxy (cm)

—e— DQM”pixelCPETemplate_step2 ttbar-phasel-newgeom
| Efficiency vs Dz | —— DOM pixelCPETemplateCutChisSquareNew_step2_ttbar-phasel-newgeom
DOM“pixel CPETemplateCutChiSquareNew?Z_stepZ_ttbar-phasel-newgeom

—a— U§IVI o_riginal SIEPZ_TDar-pndase L-mewgeom

—— DQM™pixel CPETemplateCutChiSquareNew3 step2_ttbar-phasel-newgeom

N 0.5p ; . :

© o : : : : :

§0.45;_ """"" Froeeeeeee e e R AR
97| NN MU S S S -

fficiency

VTS S e e e
© : : : : :

0.3F frovsees T ¥"m""f """"""

0.25 T L R

0.2 f f | IS
0.15 ; T e |

o flb
0.05 | | | ;*m"mg ...........

0
1.4

Ratio

1.2

-30 i i 0 20 30
TP dz (cm)




	Contents
	Page 1


